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1. OBJECTIVE

To verify Ohm’s law by finding the resistance of a resistor and comparing it to its known value.

2. THEORY
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EQUIPMENTS

DC power supply — Ammeter — Voltmeter — breadboard - resistors — connecting leads.
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The experiment verified Ohm's Law, V=IR. Our measurements showed a consistent linear relationship between
voltage and current, we get a very close resistance value when calculated using chm's law compared to real one.
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Experiment Title:
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Resistors in Parallel
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1. OBJECTIVE

To calculate the equivalent resistance of two resistors in )ga faM’

2. THEORY
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EQUIPMENTS

DC power supply — Ammeter — Voltmeter — breadboard - resistors — connecting leads.
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4. Conclusion

The experiment confirmed that the equivalent resistance of two resistors in parallel is less than the smallest
individual resistor. Our measurements aligned with the theoretical formula 1/Req=1/R1+1/R2



Experiment Title:

¢? '3

Resistors in Series

R2

= IQH'Q.:

/Pe

Slope

Peq =



1. OBJECTIVE

To calculate the equivalent resistance of two resistors in series

2. THEORY

V= Rey T

R=R+ R-.

EQUIPMENTS

wer ly — Ammeter — Voltmeter — breadboard - resistors — connecting leads. Instead of using
ammeters and voltmeters. A Often
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3. ANALYSIS
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4. Conclusion
SO 250

The experiment confirmed that the equivalent resistance of two resistors in series is the sum of their individual
resistances. Our measurements aligned with the theoretical formula Req=R1+R2
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FREE FALL
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. Suspend the steel ball using the holding magnet.

Position the photogate 65 cm from the holding magnet.

Release the ball by pressing START/STOP key of the stopclock.

. Reduce the height and repeat the previous steps.

. Read the time and then reset the stopclock by pressing RESET key.

. Repeat the measurement three times and record it in the below table.
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1. OBJECTIVE

Determining the gravitational acceleration of a freely falling object.

2. THEORY
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3. EQUIPMENTS siof &
Steel ball — contact plate — holding magnet — holding magnet adapter with a release
mechanism — photogate - electronic stop-clock — stand base — rods — measuring tape —
connecting leads.
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5. Conclusion

This experiment demonstrates that the gravitational field
strength remains constant during free fall. The height from
which an object is dropped and the time of fall do not affect its
acceleration. By comparing the obtained acceleration values
with the constant value, we are able to account for the
experimental errors. We can therefore conclude that the
acceleration due to gravity is 9.8m/s2
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1. OBJECTIVE

1. Determining the sum or the resultant force of two forces using the Force Table.
2. Comparing the results obtained experimentally with that calculated by theoretical
methods of adding vectors.

Tleovi Ficok Gryaph-cdl
2. THEORY F.lx & F‘lcasgl
G pesment L b

~ r,g = x"| Sa® FP-

3 f2
r‘ ;-\r_;cGSQ
é_f' _ng Fa / “ ’ F\
< Fa ™ Tay - F2svn2 Fre

Fx': Fuox Fay

FEJ: F‘g-\‘;&fj
- - O
F-te- 12

W) | =R

0= ta"-l[%)




EQUIPMENTS

* Force table

¢ Stand base

* Pulleys

* Hangers

¢ Slotted masses
* Strings

* Center ring

¢ Protractor .

3. ANALYSIS %
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4. Conclusion

This experiment verified that the vector sum of two forces can be accurately represented by a single resultant force
measured experimentally in both magnitude and direction.
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Hooke’s law




1. OBJECTIVE

Determining the spring constant (k) by using Hooke’s law.

2. THEORY
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3. EQUIPMENTS

¢ Scale. * Clamp. ¢ Base. * Spring. * Masses.
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5. Conclusion

There is linear proportionality between the applied force to a spring and it's extension which confirms Hooke's law

F=kx







